Paper-Maker Paper Maker 10

Directions (1-5): fas=ifaf@a SeaR &1 EuEIas sreagsr HfaT 3R wear &
3W Qe

TEl 36 =afFd 37T A, B, C, D, E, F, G 3R HNF tF qaldR A F IR 3R &g
T IR AG Fh IS B, TE N HeRT-3eT ThR AT oA TdHg o § o8 o 81T,
hIAST, TSI, TAIHRIE, T§ET, ST, TS-BrS 3R UAgTileh Weo HEeTSh g1 SHl e
A 58 T IR AT & Pl W 86 § FafF 3T IR A & HET AT W 83 &
G I UfgTiae o1 TRl fhed THE o8l §. C, Silfeh hiASI GHG Il g, IR Hal
qHE el dlel SATF & 9 ¥ g T W Jof g, ol egfed, g hed qie
el aTel <gfad 3R D& ALY o8& &, D Afh @ET arelr fheH 98¢ Har g, B &l
TR FAT 9HG 61 8. H, D& 8% a o7 §. E, G & foor JIwlia dor §. 7%
IfFd S TarRleT HAl GHG T &, TllAR A 98 el drel gfad & faweT
faalia So1 . H &1 TaerT Fdr qHG G . 98 hfad il A-Blg IHG &, HIAST
UHCE, $lel dTel SAfad & b a1 90T . A, C & 379Tel TATT T 8T da1 § 3R C
IR A THG T §. q5 Afad 9 FE THG §, D F 9 W gEC T W T ¢

QL. AFIfATET & ¥ FleT WE-H5 THE Fel dlel ATFd & faveT f[aulid dor g2

(a) 75 afFa R AR wig §
(b) 98 Afa oY WWW UdiE @
(c) 8 el R B! u9e &

() ¥ ¥ PIT T
L1Difficulty 2
QTagsRectangular/square seating arrangement

Q2.37fe fau TN ulg fIpedl § ¥ IR T Ff¥d 3MUR R Th I8 &1 FHir #=a &
0 I PH IY I8 I IWfYd Tl ]2

(a) 98 Afad o7 HiHe! g 3

(b) G

(©F _

(d) I fad o AeiRies ool &

(e)H

L1Difficulty 2

QTagsRectangular/square seating arrangement

Q3. Fuffad 7 @ f&g ueR &) e A ® Tdg 32




(a) UTR-WBTS

(b) ST

GEILE]
(QTRE
() STH ¥ PlIs g

L1Difficulty 2
QTagsRectangular/square seating arrangement

Q4. Fofafad # ¥ &F W1 g B & FAdvedd Uil &1 ufaffia &=ar g2
(a) I8 R TR TiE €, 98 o 3R U §

(b) I8 R E@ v ¢, 9% o vowr wig ©

() a8 o HIAS! g 8, 98 o 369 U9 §

(d) 98 dfd R UWriRie we €, 98 PR she wie ©

(e) $TH ¥ ®is g

L1Difficulty 2
QTagsRectangular/square seating arrangement

Q5. afe gyt Afdadl & ust &t g3l & fGx § A Y 31T HRd gU ufpy |
IR far o1 8 df fad aafdd oioe Ja M R a9 W[ (A BT BISaR)?

(e) dIR
L1Difficulty 2
QTagsRectangular/square seating arrangement

Directions (6-10):% SHFSRI B mﬁ"]ﬁﬂ? ufed ok = ﬁ'Q' ™ U &
I i

ue i ey 4,

“its all about for’ @I ‘N6R N1T Q1L 19S’ forar ST %

“among success necessary works” PrK23S J14Y 719S N1G’ ferar S %

“‘who tells you the” P ‘U230 Q20S U20E N25U’ ferar Sirdn g

Q6.T1 T8 HT HINT H ‘light BT FHe &l &2
(a) vVizv
(b) U12V
(c)T12V
(d)V12T



(e) STH ¥ PIg 7RI
L1Difficulty 2
QTagsCoding-Decoding

Q7.3 T8 He HINT H ‘proximity’ BT He T 82
(a) U16T

(b) Y16T

(c) T16Y

(d) V16T

(e) T8 ¥ I el

L1Difficulty 2

QTagsCoding-Decoding

Q8.Tl 5 e TN & ‘methods’ BT THTId FHc T g THdl 82
(a) V13S

(b)U13S

(c) W13T

(d) T13S

(e) T ¥ DI 7Tl

L1Difficulty 2

QTagsCoding-Decoding

Q9. TR He U H fifth stifled’ BT FUIAd He T G AHhdl g2
(a)W6H Z7S

(b)X6H Z7S

(c)W6H W19D

(d) U6H Z7S

(e) 9 ¥ BIg el

L1Difficulty 2

QTagsCoding-Decoding

Q10.< T8 FHe TS H ‘Selection' HT HE FT g2
(a) Z19N

(b) YI9N

(c) X19N

(d) Z19M

(e) 3T A Ig Tl

L1Difficulty 2

QTagsCoding-Decoding

Q11.T& fAf¥d % H ANSWER & TOBSFX & &0 ¥ forar ol 8. 39 & |

STREAM &I &9 foran Sar g2
(2) QSRNBF



(b) SUTNBF
(c) SUTFBN
(d) TUSNBF

(€) 378 ¥ PI3 el
L1Difficulty 2
QTagsCoding-Decoding

Q12.9f¢ WsG ORGANISE H 31&Ri &I fRUfdl &1 $8 39 UHR afkyd foear Sme
f 9 BR ¥ Ugd 3R WX Ul &I ooy ¥ ufqwfid far Srar 8, 99 9 9
dRR 3R A1 auf &1 sy # ufaenfid fear Sar ® iR 3t @Re om o, at
fafiied & 9 ®F g-0aRl & a1¢ g’ 3fd ¥ dRRT grT?

a)N

)0

(AR

(d)A

(e) 3T ¥ Pl el

L1Difficulty 2

QTagsReasoning

Directions (13-15);1?1131%@?[\?1?3?@@1 WFI'W AT PIforg 3R A= ﬁ"l'
T udf & IR )

M, A B,C, Y 3R 258 T &1 370 T UdP o -3 TS ol I T
fad Bt TS 189 T 81 A, Pad B Y oW g1 Y Had ol Afeadl § Blel g1 C
T T T 2 M AN zA T @ 7 A BT 21 dRR Jad B 3R gad o
Pt G B TR & 9T BT AR 981 M, Y I I 3

Q13.C ¥ W fohaq =afad g2
(a) R

(b)

()l

(d) TP

(e) 3_"“3[ | ﬁ's‘ :|75°f
L1Difficulty 2
QTagsReasoning

Q14. Fuafafea # ¥ -1 vy1 T § it B & a=R 176 I g2
(a) C 3R B & s & aig &I R 4 I §

(b) Y B owaTS 155 9 §

(c) AP TS 154 I §

(d) Z 3R BB SIS P 9T BT R 10 I @

(e) PIS I &I §

L1Difficulty 2



QTagsReasoning

Q15. M @I IRIAd Tl fba-t B Ibal 872

(a) 182 THt

(b) 156 THT

(c) 170 I

(d) 198 THt

(e) 159 THt
L1Difficulty 2
QTagsReasoning

S1. Ans.(d)

Hianimation)  Al{drama)
. ]

Solutions

E(historical)

- 1

D{suspense]_ B

X

4 Bihorror)

G(sci-fi) G{ccllrnedy}

Flaction)
Sol.
S2. Ans.(a)
Hianimation)  Al{drama) E(historical)
[ - : "_
D{suspense]_ B A4 B(harror)
i
G(sci-f) Cicomedy) F(action)
Sol.

S3. Ans.(b)



H{animation)  A{drama) E(historical)

* I A
D{suspense]_ B A1 B(harror)
G(sci-f) E{ccllrnedy} F(action)
Sol.
S4. Ans.(e)
Hianimation)  A(drama) E(historical)
* I A
D{suspense]_ B A1 Bihorror)
G(sci-fi) G{ccllrnedy} Flaction)
Sol.
S5. Ans.(c)
H{animation)  A{drama) E(historical)
* I A
D{suspense]_ B A1 B(harror)
G(sci-fi) C{r.c!rnedy} Flaction)
Sol.
S6. Ans.(d)

Sol.



Y —

S7. Ans.(c)
Sol.

ITS ——>
S8. Ans.(b)
Sol.

ITS —
S9. Ans.(c)

Sol.

Numerical value of first letter.

Last letter as it is.

Letter is obtained by taking the reverse of middle
letter of the word and after that add 2 in the the value
of the letter in the english alphabet.

(T, reverse=G (G=7+2=9(1))

Numerical value of first letter.

Last letter as it is.

Letter is obtained by taking the reverse of middle
letter of the word and after that add 2 in the the value
of the letter in the english alphabet.

(T, reverse=G (G=7+2=9(1))

Numerical value of first letter.

Last letter as it is.

Letter is obtained by taking the reverse of middle
letter of the word and after that add 2 in the the value
of the letter in the english alphabet.

(T, reverse=G (G=7+2=9(l))



Numerical value of first letter.

ITS — | 9 S

Last letter as it is.

Letter is obtained by taking the reverse of middle
letter of the word and after that add 2 in the the value
of the letter in the english alphabet.

(T, reverse=G (G=742=9(1))

S10. Ans.(a)
Sol.

Numerical value of first letter.

IS — 1 9 S

Last letter as it is.

Letter is obtained by taking the reverse of middle
letter of the word and after that add 2 in the the value
of the letter in the english alphabet.

(T, reverse=G (G=7+42=9(I))

S11. Ans. (b)
+1 +#1+1+1 +1+#1 +1+1+1#1 #1 41
ANSWER
5. TOBSFX SUTNBF
S12. Ans. (a)

Sol. The word is---ORGANISE
After the rearrangement--- ROAGINES
So, the letter third to the right is- N

S13. Ans. (b)
Sol. (189 cm)Z>M>Y>(180cm)C>A>B

S14. Ans. (a)
Sol. (189 cm)Z>M>Y>(180cm)C>A>B



Then, the difference between the heights of C and B is:
180-176 =4 cm.

S15. Ans. (a)
Sol. (189 cm)Z>M>Y>(180cm)C>A>B



